T ORRERIZIND S 2 L. (3 0B

(1)

15 (R BPAx (w0 flEre. JURTER ao /st Btdeng
(2)

T tv—yP\ We 1%@ % /[é%ﬁ/%’g?ﬂ“éw

(3) (-5 -4 .
«Cs= Tﬁ‘ = 1
@ = b Te- B - Eel,

XL%C?ClQ- —_%?ﬁ@i)l
=3 1 G 2G| - g
xfo, L~ 3 st =TT
R s

3 D V= \T(?Xﬂ)
N ? = $v 0
| M

3-BElo+
3.2+ = Al

F B RA

(3~



(Y _ 2.5 by, (3) l/\l-{-]\;-?ﬂl):_r?" (,Tl‘-t‘
E
=P ~ b (e, _,/
;2_ —ta
. l
B ( ( : 2~ N (e l)
o 1 =
ol f""J f () ¢ AR Le qf’%/léjrﬁ‘ﬂm t
o X e
b RN ;Z—I‘%x—‘[:—-swf_X*lk%"'%Jl
2~ N (Dr') -
rt%r'a.
TG TEY

2*[&”}"1—%" 7‘“\7‘3
dh P (1z]<1.96) =o.05" b 4

146 (.36 | ‘ 'y ﬂ
g‘. c“;% /lfézﬁ[ﬂ a2 1 [% I» — Tevwo
" 4

~186 = 95[5}/(9’{3 o

T (Lot <o < ¥ el dbr N {Qoos w

[|—e.088 £ W= L+ 0.08F 7%/65?“ [ 4poon =07y [}Q@ =
9Q
(o, fox <wm £ 1.8
[lorf}aLr[l‘ﬂ?&“J |
f—{?

i - (ARA T
() /meE & (g2
26 BT 1 AL 1% (Hot|a

< “(OQL\ — |

IA

lofor- | = #

B4



3] (2V)

ik &
T ABL B«

9
>(rv B ([Qeoof (i)/
I’tﬁ‘l/%?“d?_[xx\,m

T3 fcyoi

P(XZ QUQa)_ '2“37‘_] _

t)(,l?\,}
)("— ?000 & qo

— fo 5 3.

e 107
70

,.‘~ P(K_}_@o?o) = P(?ZS)
_ 0.0- 041868

-*—O\oo[s'U

¥

” A’{ﬁ&{&( G ) Bl i

Ao T nffrf-ﬁﬁ ! tiq/gj s
é‘”""f‘ s w01V 756\&1/7_J [

(00 k. absa it LB X3,

B(f"’,}—)
e ety

oo (G, 1)
i g_)( Jo &

3
2L o~ Ll[:o‘[) ——-‘l..

/ N\ ya: S B VAT 25t

2.33 D\S‘B SE(S

0y
£ =70
3

549 = x-Po

7691 < X0 ety
(g b/- @F%ZT}M\H ﬁ’j"wﬂum"r
/fﬁnuj QR ¥ WT?“yi_\

) M7 77T Berid
h sytotion]

243 2



() (o ¥

(> () (o
7 [ -
). Ble<Y)= B+ BECO).
B
3 e () =)
Er g (24 47)
-
(z) $\5
| M L= |t
\ g 2 4 &1
\ 2+
¢ EC{):";%‘(Q‘{-(Q‘F?O)
.
% =7 |
: A
\ FGer) 207 =& | Wik
—.__'_J‘T(.i_
(G{-) E(}(T) [ 2mee® “
Xe (0 wet ARL
| =8
(L, 2, 3, 4. 56
Jl2 6- 0 0% 2 b G
BB « 2B BaWqama Baf&" ~|3 o 3 0 30 9
[ 6.9, =] s 3l 2 ¢ o ¢ < to
g
3a(E3eR, da. gl 4 9o 1 4 |
Q tl> 6 o o 2k 16
{_‘_P(Y:f):‘_f-g—é— ¢ 2 0 - 3 0 3
x 7;_{%7«‘:{(
A tZa) -
—t
o 5 EOCY): Ti;‘(f6+9+ (o~ [‘}-u(ﬁq) .
A3
.
26



